DATE: 18-Apr-00 13:57:14

0BJECT: 844961

NAME:GREGS

8 1

This print ond associcted documents and the conlained
information are the confidential property of ELECTRONIC
CABLE SPECIALISTS. Disclosure of, and/or reproduction
of, ail or part thereof or mansfocture of any part from
information contained on this print not specifically
permitted by ELECTRONIC CABLE SPECHALISTS in writing is

forbidden.
NOTES: UNLESS OTHERWISE SPECIFIED
GENERAL NOTES:
[. DIMENSIONS AND TOLERANCES PER ASME Y14.5M-1994.
ASSEMBLY NOTES:

APPLY RTV-732-CLR SEALANT TO FAYING SURFACES TO
CREATE A SEALING CONDITION BETWEEN BASE & TRAY.

3. IDENTIFY WITH ECS P/N AND LOT# PER EP210.

5501 2 g1 | B |18.56) WAS 18.66)

OWG NO. SH REV
I | 200-84496 l 1 l 8 | |
REVISION HISTORY
ECN SHT |ZONE| REV DESCRIPTION DATE APPROVED
11395 N/C |RELEASED FOR DESIGN APPROVAL | 4/3/00 | B MATHUR
1 | M 4,7 LBS ADDED 6Js
2 | AS (8.551 ADDED
11457 B6 | A |(3.17) MAX ADDED B MATHUR
AB (7.83) ADDED 4110700
A7 {14.59) ADDED
1 |P/L ITEM 7 WAS 10344-101 6J5

4\'|81w B Al

AR RTV-732-CLR ADHES IVE SEALANT SILICONE. CLEAR Y
| 10016-104 DEFORMATION SEAL, 4 MCU SILICONE RUBBER - | 23

1o 10736-01 PLUG BUMPER RUBBER -2

| 10025¢CC-01 METERING PLATE, 4 MCU chﬁﬁJﬁrﬁhk?leM -2

3 MS21042-4 SELFNﬁgéKING .250-28, CAD PL STL - | 20

3 NAS! 14900432 WASHER, FLAT 25 X .032 THK, ALUM Nt

12 MS20470AD3-3 RIVET, SOLID 093 X .188 LONG, ALUM - | 18

2 MS51957-43 SCREW, PAN HEAD #8-32 X 0.375 LG. -

5 MS21042-06 SELF LoEK ING #6-32, CAD PL STL - s

2 MS51957-28 SCREW, PAN HEAD #6-32 X 0.375 LG. - | s
26 MS24693-C26 SCREW, FLAT HEAD #6-32 X .38 LONG, CRES Y

5 MS24693-C25 SCREW, FLAT HEAD #6-32 X .31 LONG, CRES S EE

2 M$24693-C272 SCREW, FLAT HEAD 410-32 X .50 LONG, CRES Y

I | 200-84833¢cC-101 TRAY WELDING ASSY - -

| 200-84839-101 PLENUM ASSEMBLY - -

| 200-84838CC-01 PLATE, CONNECTOR - . 9

| 200-84836CC-01 LOCATOR, PIN - - i s

;| veswaior | e oowr mONT : 2K

{ $0085-107 FAN ASSEMBLY - - §

| 200-84846-101 COVER PLATE ASSEMBLY - . 5

2 200-84845-01 RFI/EMI SHIELD STRIP - - ’

2 c0228-03 PIN - - 3

| C0228-04 PIN - - 2

! 200-84832CC-01 BASE - . |

200-84496-101 TRAY ASSEMBLY. ) ] ) )

OTY.
O O E AT IF Y 1RGNS ONOMENCLATURE MATERIAL/SPECIFICATION  |ALTERNATE PART No.|SASE |ITEM
PART HO.
S A e
THIRD ANGLE PROJECT ION ik - " [aruwes | - MR R - - ELECTtigﬁkgﬁiﬁiﬁggg'A“STS

©—=—1

- * - XXk 0.03 WXE L

JXXXE 0,010
DO NOT SCALE DRAWING
- TAEATNERT

CAD GENERATED DOCUMENT
ANY CHANGES T0 THIS DOCUMENT
MUST BE SUMITTED TO THE
DESIGN/DRAFTING DEPARTMENT
FOR_PROPER UPDATE

s :':(:;“STEFFEN 17-Hor 00 Ly

o —

MATHUR 4/3100

DES ISHED DATE

-101

F INAL

PRODUCT 1O

98-001020 -

PART/ASSY
DASH NO.

oTY

REQ’D

FINALZ NEXT
ORARING

FINISH

GUALTTY ASSURANCE

PROJECT #O,

m(EC'STEFFEN ?A{ 11700
MATHUR 4/3700
WANUF ACTURTNG DATE $12€ ) CAGE CODE

SINILAR TO

APPLICATION

ADDITIONAL AFPROVALS

DATE

ENGINEERING DATE

CMORTIZ |4r4700/ D | 66197 | C/A

TRAY ASSEMBLY.
4 MCU

LEVEL

" 200-84496

T ANTCZAK 473100 [scae 3/4 I:rr:cnvnv: - Isu::r

1o 2

5

1 |



8 7 6 5 * 4 3 I |owc NO. 200-84496 l sz—l I

This priat and associated documents and the contained REVISION Ht
information are the confidential property of ELECTRONIC EVISIOI STORY

CABLE SPECIALISTS. Disclosure of, and/or reproduction ZONE|REV. DESCRIPTION DATE APPROVED
of, all or part thereof ol mnulodure of any part from

information contained on at not specifically 8 SEE S"'EET 1

permitied by ELECTRONIC CABL[ SPECIALISTS inwritiag is

forbiddes,

DATE: 18-Apr-00 13;:44:47

OBJECT:84496_2

NAME : GREGS

NOTES: SEE SHEET |

(12.400) (1.550)

(‘463)—l .

(3.33) /—(2X¢.20I)

° ® _€ th_
& ® 1 00 —
_ ® (3X @ .310T)
(4.000) Q O @ (3.560) (3.900) {5.015)
2 ®
®
2 200 — @ ‘@’oo ——
° ® ® ® '
Qg J |
201X T 10X X 12X 2 ax X 26 12X

(12.36)
TO FACE OF CONNECTOR

o
L]
®
00 o
6X  6X
°
ND
° .35)
(3.17) MAX EXTENSION — (8.56)

° WHEN LRU IS SECURELY

G @ FASTENED TO TRAY ASSY
°
[ ]

d. Y
0 = -
— e e
OO0 B 000 YA 00
X 2x
8X 20 2% 2 1X X2
J L/ .9 HODD
[] ® ® | o m I] (8.55)
THIRD ANCLE PROJECT ION CAD_GENERAIED DOCUMENT ? ELECTRONIC CABLE_SPECIALISTS
(7.83) ANY CHANGES TO THIS DOCUMENT ECS PHONES (414) PR
(14.59) @ ‘/j/“ MUST BE SUMITTED TO THE $ITE [ CAGE covt TEVEL T WO

DESICN/DRAFTING DEPARTMENT [ D | 66197 C/A 200-84496

FOR PROPER UPDATE scue /2 Jorecnan: [per 2 o 2
8 7 6 5 1 4 | 3 ? | |




